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BIOLOGY I

Time : 2 Hours Full Marks 100

ToYal Marks 100 (2x50)

Answer all questions

This paper consists of 16 pages. Each Multiple Choice Queston (MCQ) 1s
provided with four options (A), (B). (C) and (D) Identify the correct option and
darken/fill the corresponding circle (A)/(B)/(C)/(D) with Blue/Black Ballpoint Pen on the OfMF
Answer Sheet

For each question, 2 marks will be awarded for correct answer
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'} Which of the following structures is found on the inner surface of the inner mitochondnal

ans

<

»

membrane”
A) Microsome (B) Oxysome
C) Sub-untt of Parson (D) Quantasome

ATFAT @R e I y WWOMIT T 18]l Q7
(A) TRLSTES (B) FCEN
e
(D) (IErHITSN

(C) AR 'E“mff

The =luid Mosaic Model of cell membrane was proposed by

A) Danelll and Harvey (B) Danielli and Davason
(C) Singer and Nicolson (D) Davason and Nicolson

XECAE IRA QATERE e Smﬂa P

N S 5 &) ek o oo
(C) 7H2 & P (D) Trow 8 fq@es
(A)I Chlamydomonas (B) Spirogyra
(C) Ulothnx (D) Chiorella
AR ST T
(A) ChlamydomonAs (B) Spirogyra »
(C) Ulothnix (D) Chiorelia

Which of the following statements i1s pot correct for peroxisome”
(A) It 1s bounded by a single membrane
(B) The term was proposed by de [uve

(C) It contains DNA and nbosomes
(D) It contains several c:;dﬁses
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5. Division of cork cambium gives rse (o

(A) Phellem and phelloderm (B) Phelloderm and dioblast

(C) Phellem and xylem (D) Xylem and phloem

¢ =& aygm AeEmR oTF TU0W %

(A) (TFd 8 (BT (B) @ATE 4 LARET tp 0
(C) (WA € “5'“'3’"34 (D) FETF o FEI_

6. The adhesion bétween stamens and carpe!s s called

(A) epipetalous (B) episepalous

(C) polyadelphous (D) gynandrous

Ol  YUIMA 9 STENER A
(A) &femolyramm (B) <L AT

(C) W‘Tﬁyé (D) SIrE«T«g™

7. Maltose :a disaccharide 1s composed of

(A) glucose + glucose (B) glucose + lactose

(C) glucose + fructose (D) lactose + fructose
q| 3z 2 7w T g %

(A) JF& + o (B) LIE + 7D AR

(C) W: mrﬁ (D) m + SF;ﬁ'i..,?”"T-"
8. Plastocyanin i1s a/an Corntammg metalloprotein

(A) zInc (B) ron

(C) copper (D) cobalt
vi  APThefas w3 e anEceha

(A) =¥ (B) £

o g
(C) T (D) @FA™,
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9 Pepsinogen 1s converted to active pepsin Dy
(A) HCI (B) bile salt

(C) Cu” (D) enterokinase

3 (AADETER FTEY webya ofzeE 3w T 9 T OIF

(A) H(‘.‘,l/ " (B) {v@ 7]
)
| (C) Cu* D) LHTRAIRTE

10. The term ‘nbozyme was introduced by
(A) Alexander Fleming (BY Kelly Kruger
(C) David Phillips (D) Joseph Priestley

11. In prokaryotic cells oxidative phosphorylation takes place in the
(A) cytosol (B) mitochondnal matrix

(C) inner mitochondrial membrane (D) plasma membrane

(A) F IS B) m‘;t? 3
C) TIDRTGR WaEm NE——

29

12. How many substrate-level phosphorylation reaction takes place in Krebs cycle?

(A) One (B) Two
(C) Three (D) Four
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13. The accessory pigments phycobiins are present abundantly n
(A) dadtoms and red algae
‘B) red algae and cyanobactena

(C) green algae and diatoms

(D) Euglena and diatoms

o

14. in C, plants the initial CO, acceptor 1s
(A) 3-phosphoglycerate (B) glyceraldehyde-3-phosphate

(C) ribulose-1, 5-bisphosphate (D) sedoheptulose-7-phosphate

8! C, Bfew Cco, «z wum afprl ==

(D) PreeTEleh e 7. 07

15. Kranz anatomy 1S seen in
(A) maize and pineapple (B) cotton and oat

(C) sugarcane and maize (D) orchid and pineapple
¢! F'e ITwHR Fu oTw
(A) T8 8 =EIH (B) e & 8b-9

(C) & 8 TLNS (0) ¥ & W
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16. Which of the following 1s not correct for bacterial photosynthesis?

(A) Only PSI is present (B) H.S acts as the electron donor

(C) Both PSI and PSIl are present (D) Oxygen is not released

Yo fmfrfae @Rl aedfar meReNeR-93 (wa ME WY
v

(A) I PSI TEIW (B) H,S e o vz aE ¥0e

-~
(C) PSI 8 PSII G@!¥

(D) wfwem fasts = @
17.  The hommone responsible for breaking the dormancy of seed is

(A) indole acetic acid (B) gibberellins

(C) abscisic acid (D) cytokinin

vq e Uy AENIRA ZTNED

A) trem we e (B) SIRTIATH
|
(C) s wnbre (D) FEDHHERR
18. The amino acid 1s directly used as the precursor in the formation of indole acetc acd
(A) glutamuc acid (B) alanine
(C) tyrosin (D) tryptophan

(31 WA ThHTE _ weiR Yem Wb wits SR @ o wme m )

(A) Pfie =nhre (B) wr@fera
(C) bress (D) o=
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19.

o

20

The process of gluconeogenesis takes place only In

(A) hver and kidney

(C) gall bladder and pancreas (D) stomach and cesophagus

mafrereEis mieh webhe 7 WET

Which enzyme of saliva is antibactenal in nature?”

(A) Ptyahn (B) Phosphatase
(C) Lysozyme (D) Maltase

0! FERDR @W Bernah Gl mrral )

21.

Y

(C) AR &S ) (D) TALE

(B) gall bladder and stomach

Kwashiorker disease is caused due 1o

(A) vitamin C deficiency (B) excess of fat

(C) deficiency of protein (D) excess of proten

Cat e c B HOCIEACE I T

(A) FEOfa" C-43 WeR (B) FITER Wi
o(C) cofbes =2 ©) e =l
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22. s a natural anticoagulant compound
(A) Hepann (B) Sodium citrate
(C) Potassium citrate (D) Sodium fluonde
:j//-’ | ol aaie IETEENS o

A) (B¥TTg
(A) (7119

(C) ainigatie 7‘773'@

23.

(A) protein

Atherosclerosis 1s caused by the increase of

B) e 2G5

D) ofeE= garc

n the blood

(B) glucose

(C) cholesterol (D) alcohol
2 HTYEIGTZRTT QAR IR Qq W €2 qy I
(A) =TS (B) T3S
(C) FTTChsE— (D) ST
24. Podocytes are specialized celis found In
(A) wisceral layer of Bowman's capsule (B) panetal layer of Bowman's capsul
(C) glomerulus (D) Henle's loop
281 (ATTOIEL NP QUM (AR (P SNET AW
(A) TSI FOPILS A (B) @MSIR F|TPLAT *JATH'A FA
—
(C) QIMIAFH - L (D) @R
25. Which of the following 1s an unusual constituent of unne”?
(A) Urea (B) Ammona
(C) Ketone body (D) Hippunc acd

Wl fEEee @l g sweike Temmo

(A) BEIT
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26. Which of the following is not a male secondary sex organ?’
(A) Epididymis (B) Cowper's gland
C) Bartholin's gland (D) Vas deferens

vy Ceiafregir Ton @b c@me oM e w0

) afefeg3ier” B) WTem e
A4 - -

() adifom ofe (D) ?_b-r(?

1a0d iNto N n i1s called
27. The process of transtormation of spermatid into mature spermatozoo
n 1S
(A) spermeation (B) spermatocytogenes

(C) spermiogenesis (D) spermatogenesis

31

28. The main male sex hormone, testosterone s secreted Dy

(A) Sertoh cells (B) stroma

(C) spermatogenic cells (D) interstitial cells of Leydig
¥ -2 gy AR TWEW OO -7 WA b T (N3 T |

(A) LTS (™ (8) OO

l (C) =emfrbrEs (D) o g™
o

29  Painful menstruation is known as
(A) oligomenorrhea (B) menorrhagia

(C) amenorrhea (D) dysmenorrhea
Ay TEH WU @I T

F

() @AY

(0) Fofam
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30. Scuttellum s the of monocotyledonous plant
cotyledon

(A) embryo axis (B)
(C) endosperm (D) coleoptyle

ool FHAR T LFAwed SO
(A) smy

(C) =3

(B) WA
(D) FgFeaN

31. The process of converting nitrogenous compounds to ammonia is called

(A) nitnfication (B) ammonification

(C) denitnfication (D) nrtrate reduction

o) @ «Huy A%grwe whe @e wwlwre ofire w T am
(A) ARG - (B) wTRaftTames

(C) Rz (D) LS frerees

32. Which of the folloming statements 18 wrong for AIDS?
(A) It 1s a blood-bome disease
(B) It 1s transmitted chiefly by sexual contact
(C) It is caused by HIV

(D) Its causal agent belongs to rotavirus group

| jrfafee @w TEh ADS-e2 w g

(A) B39 93 zmafry =9
(B) 2% fuTs MOIETA TN AR

(C) ¥ HIV 7’1 nwfhe o

D) £X @B d =
©) SR IR oTage
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39, The chromosome theory of heredity was proposed by
(A) Hardy and Weinberg (B) Sutton and Boven
(C) Morgan and Muller (D) Watson and Crick

A) 75 8 TEaes (B) ¥Ma & 27
:é:)wmsm (D) sUa s 5

34. In meiosis two homologous chromosomes form bivalents by

(A) synaptonemal complex https://www.tripuraboard.com

(B) Golgi complex
(C) complex medum

(D) inttiation compiex

o8| RPN uff wrmemem HTRITEW a%eh MR W2 TR A T I

(A) T IDR FR

(B) & TIUW

35. When more than one phenotypic character is controlled by a single gene 1t 1s called

(A) epistasis (B) co-dominance

(C) duplication (D) pleiotropism
v we whRe W oo e g e m, e T 7

(A) @l (B) ﬂ@/
b e () fashifam

o
gcollegedunlaa
India’s largest Student Review Platform

S—




All antibodies are commonly known as

(A) albumin (B) a -globulin

(C) PB-globulin (D) immunoglobulin

ou| Ya# (s Wures @ aMR ofAfte T 24

(A) SR B) aq-QfASER
(C) p-cnfaEfam (D) W

37. Antibody that is capable of crossing the placenta Is

(A) IgM (B) 1gG
(C) gt (D) IgA
oq| TP (SW AT WY IHTh W
(A) (B) 19G
(D) IgA

of the disease and their causative agent.

38. Find
(A) Typhoid — Salmonella typhi

(B) Pneumonia — Streptococcus pneumoniae
(C) Syphilis — Bordetella partusis
(D) Gonorthea — Neissena gonorrhoeaé
yﬁﬂsz“ﬁ%?‘@?”?;?rgmwmw
(A) DETTTT — Saimonella typhi
ﬂ m — Streptococcus pneumoniae
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39. AOd precipitation contains higher amounts of
(A) hydrochlonc acid and nitric acid
(B) suifunc acid and nitnc acid
(C) sulfunc acd and acetic acd

(D) hydrochlonc acd and oxalic acd

(A) ¥zraTes =z o atfies b

)(E) wrHE 8 TS =S

(C) FFesaa W ¢ wbfe wPe
e 8 mwﬁ@

s =]
. T

(D)

o 40. “itai lta disease of human being is caused Dy

ion

. (C) cadmium (D) nicke!

go! Weren WHE WY AR WA w0 %A

(A) Core (B) V"

(C) IFTSNETR (D)

41. In the ecosystem of forest the producers are
(A) bactena (B) fung

(C) all forms of green plant (D) zooplankton

8y TEz FmEg TeHEAL IA

(A) FTrETHiz o
(C) 7¥A w
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42. Example of 3 natural organic insecticide s
A) lead arsenate (B) nicotin sulfate

(C) sodium fluonde (D) malathion

831 gl «3fdd (e Waws g7 Teze W

(A) FT SRTAAD (B) e eTED
(C) omfem gfts D) TEfeEa
( bl S

43 Which one of the following rRNAs is not found in the Cytosolic nbosomes of eukaryotes”?
E(A) 35 (B) 58S

(L) 285 (D) 165

44. meguiarly arranged vascular bundles within the ground lissue are called

(A) actinostele (B) radial stele
(C) atactostele (D) plectostele
gt Gisosa YT TEa TTEagiE T
(A) STIHETNH (B) w3
f
(C) B D) 3o
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45. Which of the following 1s not correctly paired?
(A) Mitochondna — Crnistae (B) Lysosome — Microtubule

(C) Mntochondna — Cellular respiration (D) Ribosome — Protein synthesis

ge! FufEfee @ sfs @ o

(A) TG — (B) FRFTER _ el
(C) TRDIG — @ P (D) FRATER — e »rwm

46. Which of the following 1s not an example of compound lipid?
(A) Phospholipids (B) Glycolipids

(C) Waxes (D) Gangliosides

8y fmtEyz el Afte ffersa Tursaa quo
(A) TTRTEfoT (B) w8t iF ooy

(€) @™ (0) sEreEE

47. In the mitochondrial matrix, pyruvate is first converted to acetyle CoA by a process caled
(A) substrate level phosphorylation (B) dehydrogenation

(C) oxidative decarboxylation (D) condensation

89) TRLRRAR iz MFf Wi @ ofFmm wHHRA Coa-z R W T o=
(A) TRANOETSN  TERAREH (B) foarirgferemm

i@W (D) FACEACP
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4B. The part of the stomach attached to the oesophagus IS called

(A} pylorus (By cardiac stomach

(C) fundus (D) body

Sy!| erEmwar @ e sEaTEa e e 9N SIS A0

(A) TRLEATAM (B) fET=  ~mEs
(C) TTETH (D) TS

49, |dentify the correct formuia for the tetrasomics
(A) 2n -2 (B) 2n+2

(C) 2n 151 (D) 2n+1+1

wioy-£q FEw WUEETh fadn I

b
(A 2n -2 (B) 2n+2
(C) 2n-1-1 D) 2n+1+1
50. Male larva of silkworm posSsSesses
(A) Ishwata's gland (B) Herolds qgland
(C) Green gland (D) Pineal gland
gol . CME 9 PR 7.2 9IS
(A) E=aal sfy (B) @@= o17%
!(Cj qa o7 (D) ~mEfE= afg
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